
CALIFORNIA INSTITUTE OF TECHNOLOGY       DRWG NO.     REV  GID

MASSACHUSETTS INSTITUTE OF TECHNOLOGY E1101041-v1

SHEET 1 OF 1

ASSEMBLY NO:

OVERALL BILL OF MATERIALS D1101885
TITLE:

aLIGO AOS ITM ELLIPTICAL BAFFLE SUSPENSION ASSY

APPROVALS: DATE: REV DCN NO. BY CHECK DCC DATE

DRAWN / AUTHOR:
CIT, JT 20-Oct-11 v1 E1101007-v1 JT

(REFERENCE CONTENTS)

CHECKED:

APPROVED:

DCC RELEASE

ITEM NO REQ. SPARE TOT. PART NUMBER REVISION DESCRIPTION MATERIAL

1 1 0 1 D1101886 v1 N/A

2 1 0 1 D1002582 v2 N/A

3 1 0 1 D1101887 v1 N/A

4 8 3 11 90945A760 300 SSTL

5 4 2 6 92200A542 300 SSTL

6 1 1 2 90945A741 300 SSTL

7 1 1 2 N-1024-A
Ag-PLATED 

300 SSTL

8 1 0 1 D1002564 v1 N/A

9 4 2 6 C-2016-NA
Ag-PLATED 

300 SSTL

10 2 0 2 95412A651 18-8 SSTL

11 4 2 6 98370A019 18-8 SSTL

12 4 2 6 N-3816-A
Ag-PLATED 

300 SSTL
HEX NUT, 3/8-16

aLIGO AOS ITM ELLIPTICAL BAFFLE ACB TUBE LO 

ASSY

WASHER, FLAT, .25 X .47 OD, NAS620-C416L

McMATER, BUTTON SOCKET HEAD CAP SCREW, 

1/4-20 X .875 LG

SLC EDDY CURRENT DAMPING 8 DIA TUBE ASSY

UC COMP, SOCKET HEAD CAP SCREW, 1/4-20 X 1 

LG, SSTL

THREADED STUD .375-16 X 9, McMASTER

aLIGO AOS ITM ELLIPTICAL BAFFLE BLADE ASSY

SLC BAFFLE TUBE UP ASSEMBLY

SCREW, SOCKET HEAD CAP, 1/4-20 UNC-2A X 1.00 

LG.

WASHER, FLAT, #10 (NAS 620-C10 OR 

EQUIVALENT)

WASHER #.375 X .75 OD, McMASTER

SHEET 1 OF 1 11/7/2011 11:48 AM

https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?.submit=Number&docid=D1101885&version=
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?.submit=Number&docid=E1101007&version=
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?.submit=Number&docid=D1101886&version=
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?.submit=Number&docid=D1002582&version=
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?.submit=Number&docid=D1101887&version=
https://dcc.ligo.org/cgi-bin/private/DocDB/ShowDocument?.submit=Number&docid=D1002564&version=

